MB series

Various axis vombination Improved RPP timing belt MB 40/60/80/100 MB 40/60/80/100-D
are available and easy Basic slider block (Custmized type)
maintenance

*Various length of slider
based on customer's
needs are available.

*Customized roller
bearing is available

S: Standard slider block
H: Standard slider +
4rollers

Using high—quality of
bearing steel shait

« Felt wiper prevents

stiffening after long
time of operation

+ Spring inside of seal

keeps certain level of
frictional resistance



MB 30, 40

, 60, 80, 100

Features

N\

® Track roller guide & Belt type unit
® \arious axis combination
® High tensile timing belt

® Customized optoin

® Easy maintenance

MB

40

S

1238 4

— 600 — 0011

C

— D3 — E2

®

© O

@ © ©

®

©

@ Sereis ® Drive version (0:Standard,1:Coupling type 2:Shaft type) CJ : C + Cable socket 2M — Basic 3EA
TYPE (ODEL Other than basic : C(J)(Qty) Example)C2,CJ2
®Model Pulley direction| Pulley shape | 30 | 40 | 60 | 80 [100
0100 o o0
30/40/60/80/ 100 100 T “Tele Mounting bracket
2000 LF [e]e]e]e]e Blank : None
® Block(slider) 2200 I F |e|e|e]e]e D(Q'y) necessary quantity, Example)D2,D3
S : Standard(4 roller bearings) 1200 (5 ofefe

T : S+ 2 additional bearings
H : S + 4 additional bearings

X Please contact us for additional quantity of slider

@ Stroke(Unit : mm)

30 : 50~ 2800
40 : 50 ~ 3500

60 /80 /100 : 50 ~ 5500

% Please contact us for longer stroke than standard

@
X Please contact us for customized pulley type

® Color
Blank : White(outer)
L : White + LM raydent
B : Black (outer)
BL : Black(outer) + LM raydent

@ Sensor (dog included)
Blank : None

C : Photo sensor + Basic socket — Basic 3EA

© Bracket of reducer (including coupling)

Blank : None
TYPE MODEL
SYMBOL| SIZE 40 60 80 100
E1 42 ]
E2 62 . 0
E3 0 ] . D
E4 120 D

Basic option : ATG, APLUS, SESAME

® Customized code

Sensor bracket

Model ltem number Sensor and connector Model Photo sensor for single Photo sensor for double
?18 30 PSBS-30-PL PSBD-30-PL
60 SX671-PL # i m 40 PSBS—40—PL PSBD—-40-PL
80 EE-5X671 + EE1001 60 PSBS-60-PL PSBD-60-PL
1??(? 80 PSBS-80—PL PSBD-80—PL
40 # + =~ 100 PSBS—100-PL PSBD—-100-PL
60 SX671-L—-PL
80 EE-SX671 + EE1006 ,

100 Mounting bracket
Sensor dog Model tem number Remarks
30 MBK30-PL
Model ltem number Remarks 0 VBKAO—PL
30 PDG-M30-PL
40 PDG-M40-PL 60 MBKG0—PL
60 PDG-M60—PL SX672-PL 80 MBKBO—-PL
80 PDG-M80-PL
100 PDG-M100-PL 100 MBK100—PL

52

| www.tpcpage.com




. g . _a . ® =
MB Series Specifications ¥BTPCmotion 2
=
=
&8
MB specifications =
-]
Specification MB30 MB40 MB60 MBS0 MB100
Max speed (mm/s) 2000 2000 2000 2000 2000
Payload (kgf) 3 (horizontal) 10 (horizontal) 15 (horizontal) 40 (horizontal) 70 (horizontal)
Stroke (mm) Max, 2800 Max. 3500 Max. 5500 Max. 5500 Max. 5500
|-
@
Repeatability (mm) +0.05 + 005 + 0.05 + 005 + 005 e
o
=
Diameter of pulley (mm) @ 23.87 ? 31.83 @ 4138 2 61.12 @ 81.49 %
=
Pulley action perimeter 75 100 130 199 256 %
(mm/rev) s
No load torque (Nm) 0.2 0.3 0.6 0.9 1.4
Belt S3M / W12 RPP5 / W15 RPP5 / W25 RPP8 / W30 RPP8 / W50
LM Guide S:4 roller bearing standard / T : S type + 2 roller bearing / H : S type + 4 roller bearing
Basic weight (kgf) 1 2.1 5.6 12.9 28
Weight per 100mm
stroke (kgf) 0.14 0.3 0.5 0.8 1.4 g
w
Motor (W) 100 100 200 400 750 é
=
Size (mm, W x H) 30 x 47 40 x 64 60 x 90 80 x 121 100 x 155 @
Note) Customized options such as motor, raydent and LM guide are available,
MB structure
)
g
&
=
=
@
» Component list
No Component name Material No Component name Material
1 Rail Aluminum alloy 7 Rail Aluminum alloy
Model Shaft
30 24
40 26 . )
2 60 210 Bearing steel 8 Track roller Bearing steel
80 @12
100 @16 =
3 Pulley box Aluminum alloy 9 Washer - §
4 Bearing - 10 Wiper FELT &
B Timing pulley High carbon steel 11 Sealing EP =
6 Timing belt Urethane 12 Belt clip Carbon steel

TPC mechatronics corp | 53



MB 30

Basic specifications
Model Stroke Gear Speed Motor Max, Payload(kg)
(mm) Ratio (mm/s) (W) Horizontal(0.3G) Horizontal(0.5G)
5 750 8 6
MB30 50~2800 100
3 1250 5 3
o2 2 2-BELT TENSIONER
‘ "—~‘ STOP BOLT (M4)
= T [ [
o S 3 =
< c:j i I
+ *
S 4-M4 TAP DP8
J 2-@5H7 DP8
3o PGX4—H
e ATG(40)
A HF-KP13
& MITSUBISHI(100W)
ST+218
36 ST+146 (RAIL LENGTH) 36
\ 56 20

15 ST+114 .15 30,
e | N
492 ‘ EARRL ; : - g
E_Ljigﬁ[ |5 | 2 i } 8 ﬁ%i
~F2 &3/wY 8 s;s/wt =
"A(M4_NUT SLOT) | "B' (M3 NUT SLOT ) 2x2—-M5 TAP DP10 ‘ 30| 2x2-M4 C/B DPAS RAIL PROFILE h
— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available.
Weight & speed for each stroke
Stroke(mm) 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2200 | 2400 | 2600 | 2800 | Gear | Motor
Weight(kg) 24 25 2.7 2.8 3.0 3.1 3.2 34 35 37 3.8 4.1 44 46 49 ratio (W)
Max. Speed 750 5 100
(mm/s) 1250 3

Note) The weight of motor and reducer is not included.

54

| www.tpcpage.com




- . ® -]
MB 40 VYA TPCmotion =
=
-]
£,
g
Basic specifications 3
Vi Stroke Gear Speed Motor Max. Payload(kg)
(mm) Ratio (mm/s) (w) Horizontal(0.3G) Horizontal(0.5G)
10 500 25 20
MB40 50~3500 100
5 1000 9 9

&
=
2
64 4—BELT TENSIONER 2
] _ 70 STOP BOLT (M5, 3
e - il =
b : c(; I ﬂ_’@ :05"07? — i §
LI <l Ire) N[ I =
< i e s e =
< P 4-M5 TAP DP12
5| 2-(@5 H7 DP8
= &
ST +298
ST + 200 (RAIL LENGTH) 49 100
st fd\ [’—" g
o) 82 ) [T s K L
—-- | R L o 3
[Hi=CE 2 el =
YIRN VIR B
S=3/1 S$=3/1
'A" (M6 NUT SLOT) 'B" (M5 NUT SLOT) 20 660 20
oy 165 245 1 I 40
” = Y
: oy : JITEE
53/t L 2x2-M6 TAP DP12 |40 OB O DP9 RALL PROFILE
'C" (M4 et NUT SLOT)
— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available. =
%
Weight & speed for each stroke g
@
Stroke(mm) 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2200 | 2400 | 2600 | 2800 | 3000 | Gear | Motor
Weightkg) | 51 | 54 | 57 | 60 | 63 | 66 | 69 | 71 | 74 | 77 | 80 | 86 | 92 | 98 | 104 | 110 | rao | (W)
Max, Speed 500 10 100
(mm/s) 1000 5
Note) The weight of motor and reducer is not included.
Allowable overhang distance
Gear 0 o
Ratio Payload 0} 90
24 kg 20 mm 150 mm *
10 8
12 kg 70 mm | 600 mm g
=}
5 8kg 110 mm 500 mm <
Horizontal(X) 4 kg 240 mm | 1000 mm

TPC mechatronics corp | 55



MB 60

Basic specifications
Model Stroke Gear Speed Motor Max. Payload(kg)
(mm) Ratio (mm/s) (W) Horizontal(0.3G) Horizontal(0.5G)
10 650 40 30
MB60 50~5500 200
5 1300 20 15
104 4—-BELT TENSIONER
‘<9—2>‘ STOP BOLT (M6)
T g ul \} i -
3 R
8 8l zlé ﬁg&
o 8 HE S =
g Il Nracazc] _4-MBTAP DPIS.
~ [l eoxeon 2-@5 H7 DP8
s
< i 2 HERP23
5
5 ST + 358
ST + 240 (RAIL LENGTH) 59 144
o A ]
A 2 5 — '
[ P @
gL ! r\ wﬁ?ﬁiﬁ T
‘ 136 J—Lﬂ MBK
T s s=3/1 30 680 30
A" (M8 NUT SLOT) 8" (M5 NUT SLOT) 951 i i i
*H‘) 60
o :[;%: ‘ ?f ] =
E ol 88| T+ ) {2
' 10 Q i M ‘
B Z:a/‘ v ‘ 60 2x2-M8 C'B DP24 2
"C" (M5 NUT SLOT) 2x2—-M8 TAP DP16 RAIL PROFILE
— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available.
Weight & speed for each stroke
Stroke(mm) 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2200 | 2400 | 2600 | 2800 | 3000 | Gear | Motor
Weight(kg) 106 | 111 1.6 121 126 | 131 136 | 141 146 | 151 156 | 16,6 | 1776 | 186 | 19.6 | 20.6 ratio (W)
Max. Speed 650 10
(mm/s) 1300 5 | 200
Note) The weight of motor and reducer is not included.
Allowable overhang distance
Gear o o
Ratio Payload 0 90
0 40 kg 45 mm 200 mm
1
20 kg 120 mm | 800 mm
14 kg 170 mm 600 mm
5
Horizontal(X) 7kg 380 mm | 1200 mm

56 | www.tpcpage.com



- . ® -]
MB 80 VY2 TPCmotion 2
=
-]
=
s
Basic specifications g
Model Stroke Gear Speed Motor Max. Payload(kg)
(mm) Ratio (mm/s) (W) Horizontal(0.3G) Horizontal(0.5G)
20 480 50 40
MB80 50~5500 10 960 400 40 30
5 1920 18 15

|-
(-]
=
140 §
126 4-BELT TENSIONER =
3 | sopeoTivg S
+ E@ T o ¥ R =
g 11-Efeke S
b — ° =
o EE TR Rt =
g Fcazc | __4-M10 TAP DP18
&
PeX62—H 2-06 H7 DP8
s
i — B MISUBISHI(400W)
ST + 454
N0 _, ST + 274 (RAIL LENGTH) _ 90 170
| | | g
I I -
&
2 | g
.5, —ff—
et iy L =
ﬂlﬁ R s ®
|ias| f 1] s2 0 694 {4 40
5=3/1 s=3/1 K [ 80
"A"(MBNUT SLOT) | '8 (M5 NUT SLOT) 74‘:‘> B3 s ‘ !
of 9 i | C k=3
N glsls ‘ L () ‘81
. E# == I | f" B—g T 1
! e 4 o LEX
s s 60_|\_2x4-M8CBDPY 8‘
5=3/1 M
= RAIL PROFILE
BHNE L 2:2-M10 TAP DP1B_

— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available.

D
£
s
Weight & speed for each stroke g
@
Stroke(mm) 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2500 | 3000 | 3500 | 4000 | Gear | Motor
Weight(kg) | 209 | 217 | 225 | 233 | 241 | 249 | 257 | 265 | 273 | 281 | 289 | 329 | 369 | 409 | 449 | rao | (W)
480 20
Ma()r‘r']rﬁj’sed 960 10 | 400
1920 5
Note) The weight of motor and reducer is not included.
Allowable overhang distance
Gear 0 .
Ratio Payload ) 90
20 50 kg 20 mm 150 mm
25 kg 85mm | 600 mm "n:?
10 40 kg 30 mm 150 mm 5
20 kg 110 mm 400 mm 5
5 10 kg 240 mm | 500 mm
Horizontal(X) 5 kg 540 mm | 1000 mm

TPC mechatronics corp | 57



MB 100

Basic specifications
Model Stroke Gear Speed Motor Max. Payload(kg)
(mm) Ratio (mm/s) (W) Horizontal(0.3G) Horizontal(0.5G)
20 640 90 80
MB100 50~5500 10 1280 750 70 60
5 2560 20 18
MB100
220 4—BELT TENSIONER
h 204_| _SIOPBOLT (4]
18 | a3
T . T e e |
3 | ] %%@; lt / |
— o L o |
o o 4 ¢ PR
= — -
s e = ~JC54C 4-M10 TAP DP25
= SO0 2-@6 H7 DP8
« Eﬁz ATG(90)
*: T aII:T_S}fJF;gHWSOW)
ST +584
110 _, ST + 364 (RAIL LENGTH) 110 230
[ =
%"’ olo ﬁ
0. B
x il J a4,
GEEIE S
S .50 764 . 50
s=3/1 s=3/1 55 1 1
"A" (M10 NUT SLOT) 8" (M10 NUT SLOT) 100
i = T s
% &
8 3|3 s
48 9e & e
12] o —
Jels] . ]
'C" (M6 NUT SLOT)S—S/‘ 4_»‘760_1 2§ CB DPS -
2x2-M12 TAP DP20 RAIL PROFILE
— Please contact us to change sensor or motor options.
— Customized tap or pin pitch on the bottom is available.
Weight & speed for each stroke
Stroke(mm) | 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2500 | 3000 | 3500 | 4000 | 4500 | 5000 | Gear | Motor
Weight(kg) 420 | 434 | 448 | 462 | 476 | 49.0 | 504 | 51.8 | 532 | 546 | 56.0 | 63.0 | 70.0 | 77.0 | 84.0 | 91.0 | 98.0 | ratio (W)
640 20
Me})r‘mi /pse)ed 1280 10 | 750
2560 5
Note) The weight of motor and reducer is not included.
Allowable overhang distance
Gear . o
Ratio Payload 0} 0
20 90 kg 35 mm 200 mm
45 kg 130 mm | 800 mm
10 70 kg 50 mm 150 mm
35 kg 170 mm | 600 mm
5 20 kg 300 mm | 400 mm
Horizontal(X) 10 kg 650 mm | 800 mm

58

| www.tpcpage.com




- (=]
MB ¥» TPCmotion” 2
=
MB PULLEY OPTION §
PULLEY OPTION
PSH Type PCP Type
One body type pulley that having driving shait This type pulley is joined with Jaw—coupling

directly and supplied with coupling.

|-
8
=
5
o
=
=
s
5
@
=3
=
=2
o
=
=
-]

=
¥ Pulley of MB30 N
" PSH-S (MB30-18A) PSH-D (MB30-19A)
L ‘ .
®) TP | S0 ] T He
=0 g 20 e
7 i Rt (N BN © ‘
s | I A *g% 5
® Pulley of MB40
" PSH-S (MB40-18A) " PSH-D (MB40-19A) ]
L - I
XQJ I A=t | Ime=EL S =
h © © © © z
o032 M5 DP5 ! 58 ! 27 | o032 M5 DPS 27 ‘ 58 ‘ 27 g

TPC mechatronics corp | 59



MB

Pulley of MB60

PSH-S (MB60-18A) PSH-C (MB60-20A)
5x 5 keyway ‘ ° ‘ % 5x 5 keyway
o/l ion | i~ e |
I A ca
@ @ ° @ @ 9|
o042 M6 DP10 ‘ 80 35 o042 M6 DP10 14 ‘ 80 35
PCP-D (MB60-22A)
g D] Y o
d T | i 3l
- L
() o © (e}
042 M6 DP10 " ‘ 8 ‘ ox M6 DP10 ‘A‘ 80 ‘ 14
Pulley of MB80
PSH-S (MB80-18A) PSH-C (MB80-20A)
—
6x 6 keyway (C———> - =
’ | | | JEEED] | 10—
[ 1 g I
o — 2 E@’[ || _4g
© © 5 © © E
PCP-S (MB80-21A) PCP-D (MB80-22A)
(8 | @)
= :4 Q =
() () () [6)

20

60

| wwwipcpage.com




QB40 U2 TPCmotion®

adfy(epinb W1)Heg

& Pulley of MB100

"PSH-S (MB100-18A) "PSH-C (MB100-20A)
110 ki»‘ 110 ’__40_>‘

6x 6 keyway

54

©
DF
J
7
i
@
Qh
i
[
[@
7
s

135

I
¢

080 wapml 130 ! 45 080 \ M10DP15 312 ‘ 130 ‘ 45

|-
8
=
5
o
=
=
s
5
@
=3
=3
=2
o
=
=
-]

"PCP-s (MB100-21A) "PCP-D (MB100-22A)

110 110

Max, ®30
Max. ®30

[
135
54

‘4—_
[1LH
B

] I
Q)
mrir

31.2 ‘ 1 ‘ 31.2
o080 M10DP15  31.2 ‘ 130 ‘ M10DP15 *
} |

adf) maiosg ||eg

adA} apiny

K10ss929y

TPC mechatronics corp | 61



